
ABC-676/11 31.5.2011 Keimola kirkka
sija nimi tasoitus slope 1 2 3 4 5 6 7 8 9 out 10 11 12 13 14 15 16 17 18 in tot netto pisteet in-½slo

1 Ruuskanen Lasse 10,0 11 5 2 5 4 5 3 4 6 5 39 6 4 3 4 5 5 4 4 5 40 79 68 31 34,5
2 Wikgren Daniel pun. 24,1 22 5 5 5 6 6 4 6 5 6 48 6 5 4 5 6 5 5 6 7 49 97 75 24 38,0
3 Saurila Marjaana 21,5 24 6 4 4 7 8 5 6 6 6 52 7 5 3 7 5 6 5 3 7 48 100 76 19 36,0
4 Lindström Keijo pun. 25,9 24 5 3 5 6 6 3 6 5 7 46 6 5 4 5 8 6 6 4 10 54 100 76 15 42,0
5 Haapaniemi Arto 11,8 13 4 3 6 8 5 4 4 5 6 45 7 5 4 4 5 5 5 3 7 45 90 77 12 38,5
6 Matikka Marko 6,6 7 4 3 5 5 5 3 5 5 4 39 5 5 3 7 5 5 6 3 6 45 84 77 10 41,5
7 Saari Kari pun. 16,7 14 7 4 5 6 6 2 6 6 5 47 6 5 4 6 6 4 4 4 6 45 92 78 9 38,0
8 Pulkkinen Jyrki 15,5 18 9 4 5 7 5 3 8 4 5 50 6 6 4 5 4 5 5 3 9 47 97 79 8 38,0
9 Saurila Timo pun. 24,2 22 6 4 5 6 6 4 6 5 5 47 6 5 4 4 6 7 8 4 10 54 101 79 7 43,0

10 Kassinen Henna 18,2 20 6 4 5 7 7 7 7 5 5 53 7 5 4 5 5 9 5 3 7 50 103 83 6 40,0
11 Vehkaluoto Jouko pun. 19,1 16 7 3 7 6 7 3 5 6 6 50 7 5 3 4 9 5 5 4 8 50 100 84 5 42,0
12 Kukkonen Ari 13,7 16 6 4 5 6 5 3 5 5 6 45 8 7 5 7 7 6 5 4 6 55 100 84 4 47,0
13 Matilainen Anne-Mari 37,0 41 7 6 7 9 9 6 6 7 10 67 8 7 5 7 7 5 7 5 8 59 126 85 3 38,5
14 Haapaniemi Juha 21,8 25 7 8 5 6 5 4 6 5 8 54 7 7 4 6 9 5 5 4 9 56 110 85 2 43,5
15 Poutiainen Maire 27,8 30 6 5 7 8 9 6 9 6 10 66 10 9 4 7 7 5 6 4 10 62 128 98 1 47,0

kentän par 4 3 4 5 4 3 4 4 5 36 5 4 3 4 4 4 4 3 5 36 72

Birdie 0 1 0 1 0 1 0 0 1 4 0 0 0 0 0 0 0 0 0 0 4
Par 2 4 1 1 0 6 2 1 5 22 1 1 4 4 1 1 2 5 1 20 42
Bogie 3 6 10 7 6 4 3 8 5 52 6 9 9 4 5 9 8 8 3 61 113
Tuplabogiet 5 2 1 3 4 1 7 5 1 29 5 1 2 2 3 3 3 1 4 24 53
Triplat 4 1 3 2 2 2 1 1 1 17 2 3 0 5 3 1 1 1 2 18 35
Worse 1 1 0 1 3 1 2 0 2 11 1 1 0 0 3 1 1 0 5 12 23

Kaikki lyönnit 90 62 81 97 94 60 89 81 94 748 102 85 58 83 94 83 81 58 115 759 1507
Pelatut väylät 15 15 15 15 15 15 15 15 15 135 15 15 15 15 15 15 15 15 15 135 270
ruotsalaiset ja suomenruotsalaiset 1 1 0 0 2 0 1 0 2 7 1 1 0 0 2 1 0 0 3 8 15

Tasoitusmuutos:
Lasse Ruuskanen 40bp uusitasoitus: 10,0-4x0,2=9,2


